REMSK

EXREEAZSEZEH—

CES

(Ep29% 98 1BIRM
BREX| & B T & 5% 24 5 SR B BT B 5 24 5t
E 1| EOECREM 570 692|1,262( %15 | 208X HEHES 116 132 248
£ 2|1 3 FR 438| 394| 832|%16| B E B R 25 24 49
£ 3| H = By 418| 465| 883|x:17|#¥ B 4 = & 21 21 42
£ 4B I =w BB 323| 398| 721|618 E K = £ 202 215 417
E 57K NMNZFER 952(1,054|2,006|%19| )l O = &8 23 17 40
£ O6|EDOO0AREM 875|1,011|1,886| £20 | RNE—HZXEE 1051 104 209
£ 7| BABHEYY— |1,376(1,500(2,876(|1F21 | XN P = €8 1061 103| 209
£ 8| F P FER 904(1,024(1,928| $£22 2 = BB 305 348| 653
£ 9|16 K E =5 B 217| 259| 47623 | BEBEE_SEE 282| 256| 538
FI10| W O AN & B8 20 12 32| %24 | BRRBRITNER 93 76| 169
FI1|BE NP ZEF 167 183| 350|%25| 2 8 = & 29 24 53
F12| R R B8 & B8 115 122 237|266 B ERE X 983|1,066|2,049
EI18|EBE 7 B = BB 81 90| 171|E27T| CFE&REFM 97111,160|2,131
F14 | 8 h F R’ 1021 101 203|288 # X & 8 |1,028(1,136(|2,164
(=] st 10,847111,987122,834
g R 8 K2 & S P # & ZE M 2
~ 49N | 4ABREX (RORRE. AB4SE. JI0DZRE. HLESRE)
50N ~ 99A 1REX (B2X8)
100N ~ 199K | 2REX (BNERE. BERTNFER)
200A ~ 299A | SREKX (ERBRE. BONER. BORERTHES. RNF—LIRE. WP
300A ~ 399A 1REX (BR/N\DPERD
400N ~ 499N | 2BERX (EERE. ERIME)
500A ~ 999A | S5EBEX JtshER, . BIREE. ERRE. BEEE_E)
1,000A ~ 1,999A | BREX (EDEEREM. EDDAREM. HEPERD
2000 ~ SREX (BRNER., EABUEYY—. BERERRE. CKEREM. BUTRE)

gid (H296.1) TEHEFREMEOMILL

ES)
k24

o

10,936
12,092
23,028

I (H289.2) ERFEHRBEMEDILL

A 89 5 11,067 A 220
A 105 Z 12,223 A 236
A 194 5 23290 A 456




